Directions—(Q. 1-3) Four of the
following five are alike in a certain
way and hence form a group. Which
of the following does not belong to
that group ?

1. (A) Kilometre (B) Litre
(C) Centimetre (D) Millimetre
(E) Metre

2. (A) 49 (B) 121
(C) 81 (D) 25
(E) 331

3. (A) Lucky (B) Happy
(C) Pleased (D) Glad
(E) Cheerful

4. Which of the following will come
in the place of the question mark
(7) in the following series based
on the English alphabetical or-

der ?7
DBC KW QOP ? %‘o
(A) VUW  (B) usv
(C) UtV (D) TSt
(E) VTU §
5. CX TG ? QB MN
(A) JQ (B) QJ
C) U (D) Ul
(E) HS

Directions—(Q. 6-9) Study the
following information and answer the
guestions given below—

Six plays—K, L, M, N, O and P
are to be staged. Each play is to be
staged in a different month starting
from March to August of the same
year.

Play K will be staged in a month
that has only thirty days. Two play will
be staged between play L and play K.
Three plays will be staged between
play P and play O. The month in
which play P will be staged does not
have thirty-one days. Play N will not
be staged immediately before or

given information and hence form
a group. Which of the following
does not belong to that group ?

(A) Play N (B) Play P
(C) PlayL (D) Play O
(SEEEVAY

7. How many plays will be staged
before play N 7
(A) One

(B) Thr390®
(C) Four (D) T
(E) None Q\

8. Which play wﬂl@ staged in
Apnl ?
F’Iayl{ B) Play L
{C) Pla @ {D} Play P
(E) P

9. F‘I%@ will be staged in which of
ollowing months ?
(JA) August  (B) April
Q{C] June (D) March
(E) May

10. ‘Cube’ is related to ‘Box’ in the
same way as '‘Sphere’ is related

o P
(A) Cone (B) Ball
(C) Area (D) Field
(E) Dice

Directions—(Q. 11-15) Each of
the questions below consists of a
question and two statements num-
bered | and Il given below it. You have
to decide whether the data provided in
the statements are sufficient to
answer the question. Read both the
statements and give answer—

(A) If the data statement | alone

are sufficient to answer the
question, while the data in
statement Il alone are not
sufficient to answer the ques-
tion.
If the data in statement Il
alone are sufficient to
answer the question, while
the data in statement | alone
are not sufficient to answer
the question.

(C) If the data either is state-

(B)

11,

12.

13.

14,

(D) If the data even in both
statements | and |l together
are not sufficient to answer
the question.

If the data in both state-
ments | and |l together are
necessary to answer the
question.

(E)

Statements :

On which day of the week did
Sunil go to Andheri ?

(Week starts from Sunday and
ends on Saturday of the same
week).

Conclusions :

I.  Sunil’s wife correctly remem-
bers that Sunil went to

Andheri after Sunday but
before Friday.

Il. Sunil’'s daughter correctly
remembers that Sunil went
to Andheri before Saturday
but after Tuesday.

Statements :

Among A, B, C, D, and E, each
having a different height, who is
the second tallest ?
Conclusions :

I. Cis taller than only A and E.
D is taller than B.

Il. Only two people are taller
than C. B is shorter than D.
A is taller than E.

Statements :

How is A relatedto C ?

Conclusions :

I. C is the son of D. B is the
mother of A.

Il.  Ais the daughter of D.

Statements :
Which direction is Anuj facing ?
Conclusions :

I.  Anuj and Kunal are facing
each other. Anuj is not facing
South.



15. Statements :

W, X, Y and £ are sitting around
a circular table. Who is sitting to
the immediate leftof Y ?

Conclusions :

.  Only one person is sitting
betweenY and Z. W is to the
immediate right of Y.

l. Y is facing outside. Z is
second to the left of Y and Z
is facing inside. W is to the
immediate right to Z.

Directions—(Q. 16-20) In these
questions, relationships between diffe-
rent elements is shown in the state-
ments. These statements are followed
by two conclusions. Give answer—

(A)
(B)

If only conclusion | follows.

O

If only conclusion |l foll

(C) If either conclusion | on-
clusion Il follows. _\ -
(D) If neither co sion | nor

conclusion llows.

i both conclusions | and Il
follow.

(E)

16. Statements :
Q<R<T=X=>Z
Conclusions :
. Z<R
. Q<X

17. Statements :
A<B<C;D>B;C=<E
Conclusions :

. A<E
I. D>A

18. Statements :
F«<G<N>0;V<O=P
Conclusions :

. F>P
. F<V

19. Statements :
HzlzdzKzL=M
Conclusions :

. H=L

I. H>M

Statements :
SzT=U<V<W;T>X
Conclusions :

D €9
. S>X

20.

Directions—(Q. 21-25) Study
the following information carefully and
answer the given questions—

Eight friends A, B, C, D, E, F, G
and H are sitting around a circle
facing the centre, but not necessarily

in the same order. G sits third to |
of D. Only one person sits betwe
IS

and F. B sits second to right of M. "M i
not an immediate neighbo ,Cis
not an immediate neigh ID. Eig

an immediate neighhe::@ fH.

21. Who amnngs; ﬁé following sits

exactly bet ‘A and G ?
(A) B @ (B) C
) Q"  (DF

(

at is the position of E with

22:
(§6 respect to the position of C ?

(A) Third to the left
(B) Second to the left
(C) Immediate right
(D) Third to the right
(E) Fifth of the right

23. Which of the following is true with
respect to given seating arrange-
ment ?

(A) Both A and D are immediate
neighbours of E

(B) Csits exactly between H and
F

(C) Only three people sit bet-
ween C and E

(D) H and G are immediate
neighbours of each other
(E) None is true

24. Who amongst the following sits

third to the leftof F ?
(A) A (B) B
(C) C (D) G
(E) H
25. Four of the following five are alike
in a certain way and thus from a

group. Which is the one that does
not belong to that group ?

(A) CG (B) AE
(C) HD (D) EC
(E) BF

Directions—(Q. 26-30) Study
the following information to answer the
given questions—

A B, C D E,F, G and H are
seated in a straight line facing North.
C sits fourth to left of G. D sits second
to right to G. Only two people sit bet-

ween Dand A. B and F are immediate
neighbours of each other. B is not an
immediate neighbours of A. H is not
an immediate neighbours of D.

26. How many persons are seated
between A and E ?

(A) One (B) Two
(C) Three (D) Four
(E) None

27. What is the position of H with
respectto F ?

(A) Third to the left
(B) Immediate right
(C) Second to right
(D) Fourth to left
(E) None of these
28. Who amongst the following sits
exactly in the middle of the
persons who sit fifth from the left

and the person who sits sixth
from the right ?

(A) C (B) H
(= (D) A
(E) F

29. Which of the following represents
persons seated at the two
extreme ends of the line ?

(A) C,D (B) A, B
(C) B, G (D) H, E
(E) D, H

30. Who amongst the following sits
third to the right of C ?

(A) B (B) F
(C) A (D) E
(E) H

Directions—(Q. 31-35) In each
question/set of question below are
two/three statements followed by two
conclusions numbered | and Il. You
have to take the two/three given state-
ments to be true even if they seem to
be at variance from commonly known
facts and then decide which of the
given conclusions logically follows
from the given statements disregard-
ing commonly known facts. Give
answer—

(A) If only conclusion | follows.

(B) If only conclusion Il follows.

(C) If either conclusion | or I
follows.

(D) If neither conclusion | nor I
follows.

(E) If both conclusions | and Il
follow.



31.

32.

33.

35.

Statements :

All kings are queens. Some

queens are rulers.

Conclusions :

l.  No ruleris a king.

Il. All rulers being king is a
possibility.

Statements :

No space is air. All distances are

spaces.

Conclusions :

I.  No air is a distance.

Il. All spaces are distances.

Statements :

All cars are trucks. No truck is a

jeep. All jeeps are engines.

Conclusions :

l. No caris a jeep.

Il.
possibility.

Statements : Q)6

All cars are truck @’truck is a
jeep. All jeep:@ngines.
Conclusions

l.  No engine is a car.
Il.  No truck is an engine.

Statements : Some lights are
rays. All rays are optics.

Conclusions :

.  Some lights are definitely
not optics.

Il. Some rays are definitely not
light.

Directions—(Q. 36—40) Study

the following information to answer
the given questions—

36.

37.

In a certain code,

‘take a ride home’ is written as
ji ta diya’,

‘to home and back’ is written as
‘vu se ji mu’

‘back a worthy child’ is written
as ‘za ya se bi' and
‘child and parents
written as ‘ta vu za fe'.

Which of the following may
represent ‘worthy and best’ ?

ride’ is

(A) bivuya (B) vufelo
(C) bihilo (D) fe vu bi
(E) wvu hi bi

What is the code for ‘ride’ ?
(A) ta (B) i

(C) wu (D) ya

(E) fe

All cars being Engineg's)(q

38.

39.

40.

What does the code ‘mu’ stand
for ?

(A) to (B) home

(C) and (D) back

(E) Either ‘and’ or ‘back’

What is the code for ‘take’ ?{Q
(A) ta (B) ji \0
(C) ya D) di)
(E) Cannot be de ined

Ing represents

Which of the fo
‘child back h ?

(A) za 5@&’

() %ﬁ

(C se
za ya i
za ji vu

()‘Q Directions—(Q. 41-50) In each of the questions given below wI'Ii:.':h One

x>

of the following five answer figures on the right should come after the problemn
figures on the left, if the sequence were continued ?

41.

42.

43.

44.

45.

46.

47.

48.

49,

50.

Problem Figures

Answer Figures

Fa * 0 * fa w 9 L * *
0O o [ ] A I o [ ] o Fa )
ot D. é_ﬂ .L.l c:. US *n U. .U ns
* Fa W O * A A Fa o Fa
(A) (B) (C) (D) (E)
EEQ EI]M' FET DEE ABE BEDE o|Be U:E* :D*
E viP T|D S|A ZiB o —- *Auz=uth zZ|B O
(A) B) (C) (D) (E)
RO e I RN AN D RN AN
(A) B) (€ (O (E)
[ | AlA =|n iy Flm FaY (1] A OlA 0|4 (o] [} L ]
w 3 P * = O * P * O P * O O P
— [ ] P [ ] (] Fa [ ] [ ] [ ] Fa
(A) (B) (C) (D) (E)
A % * Fa Fa A Z |2 % Z % AW FA
<] o @ e & L ] e ] ]
s v 2% o v ¥ ¥ ¥ ¥ Fa
(A) B) (€ (D) (E)
= A D|C D A|lA C D\ = CIC % = O A %|=C %|0 w =|Z ©C OO0 A %
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(A) B (€ (D) (E)
P z z L £ c(hn T e | = o i (U E .|
=1 ! d o i P - Z u E 8] i o(U
(A) B) (C) (D) (E)
BROWN|IDNROW|WSDRO|OWPSR|ROWVP| |LROWC|PROWV|IVROWC|CROWV|VROWP
(A) (B) (C) (D) (E)
DZ T O Do —3 DZ Oz O#* Ow to
O% $0|DC =%|=T DZ|IDZ +T|40 O+* O% +40|=% DO|=T DZ|OQT +Z|DZ =T
— 5y oz YO —3 DZ =T +T 40 =0 Ow
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(A) B) (C) (D) (E)



	1
	2
	3



